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Q16.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Q19.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Working Answer | Mark Notes
140=2x2x5x7; 245= M1 | or lists at least 3 factors
5x7x7 of each number (other
than 1 and the number)
(1,2.4,10, 14, 35, 70,
140)
(1, 5,7, 35,49, 245)
35 2 Al
50, 100, 150, 200, 250, 300, Ml
350, 400 and
80, 160, 240, 320, 400 OR
2 %x5x5 and2x2x2x2
x5
2x2x2x2x5x5or 400 M1 | LCM found
1640 | 3 | Al | or440pm
Total 5 marks
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Question ‘Working Answer | Mark Notes
20=2"x5and24=2"x3 2 M
or2’x3x5
or 20.40,60,80,100,120 and
24,48,72.96,120
120 Al _or2’x3x5o0e

Tota

2 m:
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Answer

Mark

Nates

2 |MI foridentifying 2° or 37 or
for 24, 48,72 and 36, 72
or for an answer of 144 or
216
72 Al _accept 2 x3*

Total 2 marks
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Working Answer_ Notes

Fully comrect actor tree M2 Factors must multply o 625

orsepeated division to

reach prime factors

(condone inclusion of 15

or 355,11

or3x Sxsxiixl
I not M2 then M1 for comrect but incomplete fator tree
division ladder which includes 2 diferent pimes
(g 25x3x11)

3xsxsxil Alcao Accept 3 x5"x 11 and dos n place of multplcation signs

Total 3 marks
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‘Working

Mark

Notes.

Correct factor tree or repeated
division to find factors 2.2,2.3.5.5
(condone inclusion of 1's)

M2

Al

for finding correct factors
(condone the inclusion of 1)
M1 for finding a set of
factors (with a product of
600) which includes at least
3 of the six prime factors.
This may be a factor tree
that is incomplete or only
correct to this stage. for
instance

dep on M2

5

MI

Al

For a correct application of
an index law

Total 5 marks
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‘Question ‘Working Answer Mark Notes
@ 2
MI For3*x5'x11 witha=4
orh=
111375
Al Accept 3*x5 x11 0e
[O) 2 | ML For 3'x5% or 3" x5°
(and no 11) or 1 % 3*x 5°
where n £ 11
2025 Al Accept 3'x5 oe

Total 4 marks
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Question

Working

Answer

Mark

Notes

(8=)2x2x20r 22 0r 227

M1 For clearly writing 8 as
a product of prime
factors or as 22

Al

Total 2 marks
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Question Working Answer | Mark Notes
Number
@) 54 =2 x 3% and 90 2 [ M1 Need not be products of powers;
=2x32x5 accept products or lists
eg 2,3,3,3 and 2,3,3,5
lor accept 9,2,3and 9,2, 5
1,2,3,6,9,18,27,54 (may be seen in a Venn diagram
jand or
1,2,3,5,6,9,10,15,18 may be shown as factor trees or
,30,45,90 repeated division)
lor 2 x 32 0e
T Al cao
®) Ex3x5oe eg 7 [ M1 Need not be products of powers;
6xoxs accept products or lists
€32,3,3,3,5
jor
54,108,162,216,270
|and 90,180,270
270 AL cao
Total 4 marks,
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Question | Working Answer | Mark Notes
@ [27%2%2x2x2x30r MI for one number written as product of
2x2x2x3%5 prime factors number may be at the end
ce of factor trees or on “ladder” diagrams
2 [96 1120 or
2 [48]60 Use of table method (allow 1 error), 2
2 [24]30 examples shown but could have 2. 3. 4. 6.
325 12, 24 along the side
ils or
at least 2 factors for cach (excluding 1,
6 [96]120 96.120)
4 [16]20
i[5
2 2 | Al or2x30e
®) MI for 27 x 3" x 3 x 79 x 117 with at least
two of
m=4n=1p=2¢=2r=1(r
omission of one with others fully correct)
NB: e.g.2* could be 2 x2°
or
prime numbers may be seen in a Venn
diagram ~ if so must be correctly placed
646800| 2 | Al or2*x3x52xTx1loe





image14.jpeg




image15.jpeg
Question ‘Working Answer | Mark Notes
@ 2 T [Bl cao
280 280
®) or or's 2 | M1
85 5%
or 280=8x 5x 7 or 2°
or fully comrect factor tree
or repeated division or 2
2,2,5,Tor2x2x2x5
%7
3 Al cao
Total 3 marks
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Question

Working

Answer

Mark

Notes

a®)

0]

3xT

2P x3 x5
x7*

Bl

Bl

for3 < 7 oe
or 1029

for 23 x 3% x
5x 74 ocor
23337720

4,2,1

©

M1

Al

forr=1
or for.
andg=2

or correct
representatio
nof Cin
terms of
prime factors
ona Venn
diagram





image17.jpeg
Question| Working Answer | Mark Notes

@ [252=2x126=2x2%63=2x2x3 <21 MI for a process that
isolates at least 2 correct
prime factors c.g.
252=2x126, 126 =3x42
or a factor tree with 2
primes from 2,3 or 7
identified or repeated
division

2x2x3x3x7| 2 | Al for 2x2x3x3x7 oc with
correct prime factors

®) [ 27x32x7x2" x3x5 M1 "27x3?x7" x2*x3x5
or a fully correct factor tree
or fully correct repeated
division

26x3 x5x72 Al cao accept in any order

Total 4 marks
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Question|  Working Answer | Marks Comments
(129)2x2x30r(120=)2 MI or foralistofat
%2 %2 %3 %5 (condone Least 5 consceutive
2.2.3 or 2.2.2.3.5) [factors multiples of 4 or a
could be seen at the end of a list of at least 5
“factor tree’ or in a ‘factor factors of 120 or
ladder’] or Venn diagram for 12x=120x4 0e
with the middle and one (g2 x 4(=x)
other region correct: 2 =12

x 12

Where 10 may be 2,5 and 4
may be 2.2

40

or 12+ 4(= 3) and
120+ 37

Al accept2x2x2x5
or2ixs

Total 2 marks
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Working

Answer

Mark

Notes

20=2.2,5
140=22,
420=2,2,

Wi
e

.7

60

M1

Al

For identifying the prime factors
for 2 of the 3 numbers
20,140,420 (can be implied by a
factor tree, repeated division or
Venn diagram) or

For a complete Venn diagram for
x and 140 with 20 in the
intersection or
x=20%30r

420
20x7xy=420 or 20 X 7 or
Atleast the 1* 3 multiples of 20
or
140x =420 x 20 0e

Allow 2x2x3x5

Total 2 marks
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Ques

Working

Answer

Mark

Notes

224=2 % 112 = 2x2%56 = 2x2x2x28

=2x2x2x2x14 = 2x2x2x2x2xT

MI for at least 2 correct steps
in repeated factorisation (may
be scen in a tree diagram)

A12.2.2.2.2.7 condone
inclusion of 1)

w9,

x7

A12°x7
NB: Candidates showing no
working score 0 marks

56+32+16
56+32+14
56+28+16

MI for any 3 correct distinct
factors
(excluding 1 and 224)

g 56.32.16
or 56,32, 14
or 56.28. 16

AT correct and have a sum|
between 99 and 110

Total 5 marks
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QuestionWorkin:

Notes

(a) ()

5% oe or 600

6 (B1 for any product using powers of 2 and 3 and 5
or at least 300, 600... and 40, 80, 120 ...)
(b) MI for one correct use of index laws eg. 8 + §°

Al

Total 5 marks
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Answer Notes.
MI  For identifying 2%, 3°. and 5 or
any product of integer powers of 2 and 3 and 5
where at least fwo powers are correct and the
N third is greater than 0 or
540
2x2%3x3%3x%5 Al Accept 2x3x5
®) M For identifying 22, 3°. 5 and 7 or
any product of integer powers of 2 and 3 and 5
and 7. where at least three powers are correct
and the fourth is greater than 0.
2 Accept a product that includes 2.3 and 5 and 7
and multiplies to 22680 (Eg 2* x 3¢ x 5 x 7 x 9)
or 22680
2x2x2x3x3x3x3x5x7 Al

Accept 22 x3*x5x7

Total 4 marks
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Question | Working Answer | Mark | Notes
@ T5=3x5'and90=2xF x5 2 | M Need not be products of powers; accept
or1,3,5,15,25,75 and products or lists ie 3,5,5 and 2,3,3,5
1,2,3,5,6,9,10,15,18,30,45,9
o Prime factors may be shown as factor
trees or repeated division
or3xs
T A
® 2T x5 oeegbx 35 z [ for 15290
or 75,150,225,300,375,450 Alsoisyeedior
and 90,180,270,360,450
350 A
Total 4 marks
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Question Working Answer | Mark Notes
Number
Product of positive integer] 5 Powers and/or products
powers of both may be evaluated eg 15
3 and 5 only
FFxGoras A1 Also accept 0 X 5

Total 2 marks|





